@ Protetor Frontal Skid Plate | Toro (4x2) 2016 -
Skid Plate | Toro (4x2) 2016 -

K r F Ka Protector Frontal Skid Plate | Toro (4x2) 2016 -

ITEM QUANT. DESCRICAO . f
ltem Qty. esengisa PARTES INCLUSAS / Parts Included / Piezas Incluidas
Iten Cant. Descripcion
Pf. Sext. Int. Cab. Abau. M6x25
M6x25 Int. Hex. Bulg. Head Bolt E
Torn. Hex. Int. Cab. Com. M6x25
Parafuso Sext. M6x50
B 05 M6x50 Hex. Bolt
Tornillo Hex. M6x50
Parafuso Sext. M8x1,25x25
© 04 M8x1,25x25 Hex. Bolt
Tornillo Hex. M8x1,25x25
Arruela Lisa M6x1,6x18
D 07 M6x1,6x18 Flat Washer
Arandela Lisa M6x1,6x18
Calco Plastico 18x15
E 05 18x15 Plastic Shim (€] H
Calce Plastico 18x15 . .
Borracha Lateral
F 02 Side Rubber ]
Goma Lateral
Acabamento Plastico
G 02 Plastic Cushion _
Acabamiento de Plastico
Suporte Frontal
H 02 Front Support
Soporte Delantero
Conjunto Skid Plate
01 Skid Plate Set
Conjunto Skid Plate

FERRAMENTAS / Tools / Herramientas

/7 /7 )

: &

Chave Torx Chave Allen Chave L
T27 4 10e13

Rua Adhautt Mantovani - Linha 80 - Cx. Postal 336 - Flores da Cunha - RS - Brasil
CEP 95270-000 - www.keko.com.br - keko@keko.com.br - (0-XX-54) 3279-5700



~

~

c
©
(&S]
o
©
]
[%2]
=
(¢B)
©
c
©
(&]
2
—
(]
(2]
[¢6)
(@)
~
c
Q
]
2
o
(@]
(2]
[¢B)
@)
c
o
©
I
]
[%2]
=
~
O
<
o
<
<
|_
()]
<
<
<
o
@)
<
o
o
©)
)
Ll
@)

Coloque os Parafusos “C” nos Suportes
Frontais “H”, de acordo com aimagem
acima, sem atravessar a chapa.

Place the “C” Bolts on the “H” Front Supports,
according to the image above, without crossing
the plate.

Coloque los Tornillos “C” en los Soportes
Delanteros “H”, segun laimagen arriba, sin cruzar
lachapa.

A montagem do acessorio no veiculo
inicia com o posicionamento dos
Suportes Frontais “H”. Eles devem ser
introduzidas através das aberturas da
grade frontal inferior, indicadas pelas
setas acima.

The assembly of the accessory on the vehicle
starts with the positioning of the “H” Front
Supports. They must be introduced through the
openings of the inferior frontal grille, indicated by
the arrows above.

El montaje del accesorio en el vehiculo comienza
con el posicionamiento de los Soportes
Delanteros "H". Deben introducirse a través de las
aberturas de la rejilla frontal inferior, indicadas por
las flechas arriba.

Passe os Suportes Frontais “H”,
inteiramente, através da abertura
superior da grade frontal inferior do
veiculo, para depois melhor posiciona-los.

Pass the “H” Front Supports, completely, through
the upper opening of the inferior frontal grille of
the vehicle, for later positioning them better.

Pase los Soportes Delanteros “H”,
completamente, a través de la abertura superior
de larejilla frontal inferior del vehiculo, para
después posicionarlos mejor.

Note que a aba inferior dos suportes deve
sair pela abertura inferior da grade do
veiculo. Posicione os Suportes Frontais
“H” de forma que a parte superior dos
mesmos abrace a aba metélica interior do
carro.

Note that the lower flap of the supports must exit
through the lower opening of the vehicle grille.
Position the “H” Front Supports so that the top
portion of them embrace the inner metal flap of
the car.

Tenga en cuenta que la solapa inferior de los
soportes debe salir por la abertura inferior de la
rejilla del vehiculo. Coloque los Soportes
Delanteros “H” de modo que la parte superior de
los mismos abarque la solapa metélica interna del
coche.

Dé& um pré aperto nos Parafusos “C”,
apenas para assegurar gque os suportes
ndo caiam durante a montagem dos
componentes restantes.

Pre-tighten the "C" Bolts only to ensure that the
supports do not fall during the assembly of the
remaining components.

Preste un preapriete en los Tornillos "C", sélo para
asegurar que los soportes no caigan durante el
montaje de los componentes restantes.

Na porcéo inferior frontal do veiculo,
localize os 5 parafusos originais cabega
plana, remova (com uma chave torx T27)
e descarte-os.

On the lower front portion of the vehicle, locate
the five original flat head bolts, remove (with a
T27 torx wrench) and discard them.

Enla parte frontal inferior del vehiculo, localice los
cinco tornillos de cabeza plana originales, retire
(con unallave torx T27) y deséchelos.

Para que a montagem do acessorio seja
possivel, recorte as pontas da parte
plastica, nos dois lados, na porgéo inferior
frontal do veiculo (de acordo com a linha
pontilhada acima).

To make the accessory assembly possible, cut the
ends of the plastic part, on both sides, on the
lower frontal portion of the vehicle (according to
the dotted line above).

Para hacer posible el montaje del accesorio, corte
los extremos de la pieza de plastico, en ambos
lados, en la parte frontal inferior del vehiculo (de
acuerdo con la linea punteada arriba).

Coloque as Borrachas Laterais “F” nas
bordas laterais da parte plastica do
Conjunto Skid Plate “I”, que encostam no
veiculo. Elas protegerao o veiculo de
eventuais danos, causados por
trepidagio do mesmo.

Place the "F" Side Rubbers on the side edges of
the plastic part of the "I" Skid Plate Set, which lean
against the vehicle. They will protect the vehicle
from any damage caused by trepidation.

Coloque las Gomas Laterales "F" en los bordes
laterales de la parte de plastico del Conjunto Skid
Plate "I", que se apoyan contra el vehiculo. Ellas
rotegeran el vehiculo de cualquier dafio causado
por temor.

Posicione o tubo do Conjunto Skid Plate “I”
nos suportes frontais. Coloque os
Acabamentos Plasticos “G” na extremidade
da aba inferior dos suportes, onde entram
em contato com o tubo. Fixe a aba dos
suportes ao tubo, com Parafusos “A” e
Arruelas “D”.

Position the tube of the “I” Skid Plate Set on the front
supports. Place the “G” Plastic Cushions on the
extremity of the inferior flap of the supports, where
they come in contact with the tube. Fix the flap of
the supports to the tube, with “A” Bolts and “D”
Washers.

Coloque el tubo del Conjunto Skid Plate "I" en los
soportes delanteros. Coloque los Acabamientos de
Plastico "G" en la extremidade de la solapa de los
soportes, donde entran en contacto con el tubo. Fije
la solapa de los soportes al tubo, con Tornillos “A”y
Arandelas “D”.

Para a fixagdo da por¢do inferior do
Conjunto Skid Plate, utilize Parafusos “B”
e Arruelas “D” (exterior) e Calgos
Plasticos “E” (interior).

For the fixation of the lower part of the Skid Plate
Set, use “B” Bolts and “D” Washers (outside) and
“E” Plastic Shims (inside).

Para la fijacién de la porcién inferior del Conjunto

Skid Plate, utilice Tornillos “B” y Arandelas “D”
(exterior) y Calces Pléasticos “E” (interior).




~

~

c
©
(&]
o
©
i}
0
=
(¢B)
©
c
©
(&]
2
o
(]
n
(6]
(@)
~
c
o
pra}
=2
o
(]
0
[¢B)
@)
c
o
e}
i}
S
i}
n
=
~
O
<
O
b
<
|_
)
<
<
o
S
@)
<
O
o
®)
)
Ll
@)

Apbs arealizagéo de todos 0s passos
anteriores, seu acessorio estara como na
imagem acima.

After following all the previous steps, your
accessory will be as in the image above.

Después de seguir todos los pasos anteriores, su
accesorio serd como en laimagen de arriba.

GARANTIA / Warranty / Garantia

Keko Acessorios S.A. concede ao comprador original dos produtos Keko garantia de trés anos a partir dadatada
compra original por defeito de fabricagdo em matéria-prima, mao-de-obra ou acabamento, em servigo ou uso
normal, sendo devidamente comprovados. Excluem a garantia danos ocasionados por colisfes, uso indevido do
produto como sobrecarga, limpezaincorreta, instalagio inadequada, alteracdo da concepgéo original do produto
oun’desérie (disponivel no produto e naembalagem) de fabricagao removido.

Conservagdo, limpezae durabilidade: paralimpeza utilizar somente 4gua, sabao neutro, esponja ou flanela. Para
conservacdo de produtos com acabamento cromo utilizar periodicamente cera automotiva. Nunca utilizar
produtos quimicos ou abrasivos, dado que seus componentes riscam o acabamento e expde a corrosio 0s
produtos comacabamento em cromo e danificam os produtos em plastico.

Solicitagdo da garantia: solicitar a loja em que foi efetuada a compra a avaliagdo do problema. Em caso de
reclamac&o procedente, a pecaserasubstituidasem énus ao proprietério. O conserto ou substituicdo das partes
doequipamento nao ocasionara prolongamento do prazo de garantiaestabelecido parao mesmo.

Termo de responsabilidade dos produtos Keko: a Keko ndo assume qualquer responsabilidade em virtude de
ocorréncias de qualquer natureza, decorrentes da ma utilizagdo/instalagéo dos seus produtos. Apés a utilizagdo
do produto/embalagem recomendamosacorretadestinacéo paracadatipo de material conformeleivigente.

Os produtos Keko sdo comercializados como acessérios meramente decorativos e ndo devem ser
consideradoscomo medidade protec¢édo parao veiculo ou passageirosem casos de colisdo oucapotagem.

Keko Acessorios S.A. warrants to the original purchaser of Keko's products, for the period of three years, from the
date of the purchase, that the product is free from defects in raw material, workmanship or finishing and it is Keko's
obligation, under thiswarranty, to repair or replace, at Keko's election, any part or parts of the product which prove to
be defective. This warranty shall not apply to any product which has suffered damage from collision, mishandling,
misuse, incorrect cleaning, and incorrect installation or to any product that has been altered from its original
conceptionorhadits serialnumber (availablein the productand packaging) removed.

Maintenance, cleaning and durability: for cleaning use only water, neutral soap and sponge or flannel. Periodically
use automotive wax to conserve the chrome-plated parts. Never use chemicals or abrasive products nott to scratch
andexpose the productto corrosion.

Warranty Claim: request the shop where the accessory was purchased to evaluate the defect. If proved to be Keko's
liability, the part will be repaired or replaced without charge. The repair or replacement of the parts will not resultin
extensionofthewarranty termprovided.

Keko's Liability Term: Keko does not assume any responsibility for the mishandling or wrong installation of its
products. After using the product/packaging we recommend the appropriate destination for each type of material
accordingapplicable law.

Keko's products are merely decorative and do not guarantee the safety of the occupant or vehicle in case of a
rolloverorothervehicleaccident.

Keko Accesorios S.A. le concede al comprador original de los productos Keko garantiade tres afios a partir de lafecha
de compraoriginal por defecto de fabricacion enlamateria prima, mano de obrao terminacion, enservicioodurante el
uso normal, siempre que debidamente comprobados. Se excluyen de la garantia los dafios ocasionados por colision,
uso indebido del producto como exceso de carga, limpieza incorrecta, instalacion inadecuada, alteracion de la
concepcion original del producto o cuando se haya retirado el nimero de serie (disponible en el producto y en el
empagque)defabricacion.

Conservacion, limpiezay durabilidad: para limpieza, utilizar solamente agua, jabén neutro, esponja o franela. Parala
conservacion de productos con terminacion cromo, utilizar periodicamente cera para automdviles. Nunca utilizar
productos quimicos o abrasivos, dado que sus componentes arafian la terminacion y exponen los productos con
terminacionde cromoalacorrosion, perjudicandolos productos de plastico.

Solicitud de lagarantia: solicitar laevaluacion del problemaen el establecimiento donde se efectudlacompra. En caso
dereclamacién procedente, se cambiarala piezasin cargo parael propietario. Lareparacion o cambio de las partes del
equiponorepresentaprolongacionde suplazo de garantiaoriginal.

Término de responsabilidad de los productos Keko: Keko no asume ninguna responsabilidad en virtud de cualquier
tipo de averia que resulte de mala utilizacion/instalacion de sus productos. Después de la utilizacién del
producto/empaque recomendamos el destino apropriado paracadatipo de material, segunlalegislacionaplicable.
Los productos Keko se comercializan cono accesorios meramente decorativos y no se deben considerar como
medidade protecciéndel vehiculo ode suspasajerosencasode colisionovolcamiento.

SAK: SERVICO DE ATENDIMENTO KEKO

543279.5811 sak@keko.com.br




